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QUESTION 1
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Fibre Channel traffic on VSAN 12 between N5K2 and MDS9124-2 is degraded. Which statement explains the cause of
this degradation? 

A. Performance is decreased by half due to the incorrect port type being used. 

B. The load-balancing scheme for VSAN 12 should be src-id/dst-id. 

C. B2B credits on N5K2 should be increased to 128. 

D. A VSAN port channel must be configured between N5K2 and MDS9124-2. 

Correct Answer: D 

 

QUESTION 2

Refer to the exhibit. 
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What is the cause of the ISSU failure when using the command show system internal csm globalinfo? 

A. The command conf-t is holding a lock and not released it. 

B. The SSN feature is not enabled on both switches. 

C. The reference count is less than 1 due to a lack of successful config-sync. 

D. It cannot be determined from the output. 

E. An Administrator is logged in on another session and has a lock of the session data base to prevent ISSU. 

Correct Answer: A 

 

QUESTION 3

Which two statements are true regarding vPC configuration? (Choose two.) 

A. With vPC, there are no blocked ports. 

B. vPC uses hash-based EtherChannel load balancing. 

C. There are STP-blocked redundant links. 

D. There is VLAN-based load balancing. 

E. There is higher oversubscription. 

Correct Answer: AB 

 

QUESTION 4

Refer to exhibit. 

Customer has a pair of Cisco Nexus7010s switches and connected to a single Cisco Nexus5548 switch via
vPC.Customer has a combination of M1 and F1 I/O Modules in Cisco Nexus7010s. 

Why is the design described not supported? 

A. Mixing I/O Modules on the Same Side of a Peer Link is not supported 
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B. vPC does not support split control plane 

C. You can not configure a vPC peer link to configure two devices as vPCs 

D. Need to add another Cisco Nexus5548 switch to the topology to make this work. 

Correct Answer: A 

 

QUESTION 5

Which two fields should be examined when you use the show otv overlay command to verify that the overlay interface is
enabled and the parameters match on both sides? (Choose two.) 

A. VPN name 

B. VPN state 

C. Control group 

D. Data group range 

E. Join interface 

F. Site VLAN 

Correct Answer: BC 
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